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Using the diagram below, create your own word problem. Solve for the value of the variable
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Crty A has 8 population of 29,435 more people +han City B.
City B has & poputation of |58 7people. What (s +he {otal
population of the 4o cities €

The +otal population is (60,209 people.

2. Using the equation below, draw a tape diagram and create your own word problem. Solve for the value
of the variable.

A 248,798 = 113,205 + A + 99,937
K I:“ In 4stal, Alice, Barbara, and Carol have
%248,79%. Barbara has #(13,205 and

% 1 | - Carol has #99,437, How much money
N 24?’ 1 does Alice havwe 7

\ I3) 205
c — ) {3205 249,79¢
N437 ka1 -
213(42 35 650
Alice has ¥35,656
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